2 Barrel tapes integrated into carbon fibre cores Petal tape




LBL Long Travel Optical Scanner

We image these dots and find the
dot-to-dot distance

Metrology data
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One of 4 Bus Tape Testing Robots

Finds pads from fiducials
Measures resistances,
short circuits and HV
leakage currents.

Measures locations of
fiducials for metrology
Example bond pad
field with 3 fiducials

2 independent probe heads with cameras for alignment with
XYZ control



Example of
measurement of
resistance versus
length for 100 um
tracks.

Example tape.
HV leakage current safely

y=mx+c
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Example of TDR traces for batch of
prototype tapes

Determine Impedance and
attenuation.

140 A

Variation within a batch very small
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dX / mm

Example metrology plots for one barrel bus tape using BTTR

Distortion in y vs x
Maximum allowed: 0.6 mm

Stretch: slope dx vs x < 0.001
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